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Q. T AR ! FaT2g1 A1
3T TS 2

ST FATSAT T N7 HISL H F7
g7

The height of five persons is
given below:

What is theapumabheight in
meters? cm

163 CM, 16D )csm 156 cmM, 159

cm, 162 cam
(C) 8 m 10

cm
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Q. MEed AT 92 =91 L:Consider the following
statements:

(i) T HieT, Us FhaATHIeT T 97aier g1/ One metre is one-
hundredth of one kilometre.

(ii) Teh ST a9 g Ueh |1 g911< 1/ One lakh is equal to one
hundred thousand.

(iii) T THeAIET T SATeX T «Oaier g1/ One millilitre is one-
hundredth of one Iit a) (i) and (iv)

(iv) T FIE FL1aT @ﬂj F")@' %1/ One (('E?ﬁﬂ? SAELD

one hundred lakh.
SEEA AT ﬁ@raﬁ?@f$ﬂ?8§r§’7 Which of ﬂca))a%f%ya%nndd(m)

statements are correct?
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Q. TF FATHICL T I-A74T AT

JEX 2

Two fifth of a kilometer is same

as.

(a) 300
He/metre
(b) 400
dex/metre
(c) 500
Her/metre
(d) 450
Her/metre

[CTET]
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Q. 99 FT 25 HqFT 2021 = o =%
H RIS Fd 9HT 39 AIAT STeH THTIT

T 9T S99 @7 & 'Rt 59 At
JHTT 957 § 5 T*Ha¥ 1995 fordT ot

ST UL T THTOT G 0T, a7 IEeh!
AT SRTAT TRt =417

Q. Venu found his birth certificate
while cleaning the home on 25th
September 2021 . He noted that the
(ateptgrin g i cerijiicate mritten
afoptRglecember 1995. What was
Ve RS RPE ataegRoNeide
yore) the sedificate”?

(c) 25 T 3(1/2) §=19/25 vears
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Q. STHFEL 7 U [ ST TATH JIAT
H art 99 6 qATg & Bl 98
\/\\ T ®9 9 TF a9 14 [emd
y qTET 9HaT gl JTe [T 6t SHar
300 fRefTete g, a1 98 U 9a7g |

fohae &ftex aT=t far g2
Q. Doctor has advised Aman to
drink plenty water every day. He

d ri g;? 1r94|'?215§es of water
e capacity of the
% ? how many litres
6}% rlnks in 1 week?

(c) 30.4 L/30.4
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Q. FaT 7 3 Hiew 40 g5 H e Fit 799

AT @ AT | I THL TATT I g

3! %og a1 F 20 HEHET FH B

RETET T TATH 9T g 3 39! %a
aq ! %@ | hdel 5 HEHEL FH 2
R fohad HerHel ¥ Ugal &1 |
G Y

Q. Rita has the longest jump of 3
m 40 cm. Tanu is second. Her
jump is 20 cm less than Rita's.

[BN20RACONSSIBER O 24BRIS
gﬂlg%ﬁm less than Tanu's jump.

Al mvAAarayn ~~arntirmantar DilhAarni A
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Q. Rt & & wiF-m

1 /8700
Q. Which of the following is S
(@oirkr7100 km, 1 m=10 cm, 1
cm=10 mm

(b) 1 km=1000 m, 1 m=100 cm, 1
cm=100 mm

(c) 1 km=1000 m, 1 m=10 cm, 1
cm=10 mm

(d) 1 km=1000 m, 1 m=100 cm, 1
cm=10 mm
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(a) 250
wet/ml

(b) 2
ore?/litres
(c) 350
THert/ml

Q. ST HA H &= o {o0 Toh I Aol
A1 FATAT 2| Ik qTE Uk dloal, U
ZreT freme 3 v a7 freme g, e

AL 20 =fiex, 250 f¥=ir, 400 =T 7
TTHT 3T FHAT S| TTQ AU 7 HA H 45

Zie R 8T 21 72 Fieme g ot 9=

g, Al areal ¥ fohaar Al areit a=T g2
Q. Aneesh makes a bucket full of
lemon drinks to sell at the fair. He has
a bucket, small glass and large glass
respectively, which can contain 20
litres, 250 ml and 400 ml of lemon
drink. If Aneesh has sold 45 small
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Q. TF H1eX FT -3 1ATS

SRS
//_:,\> Q. Three-fourth of a meter is

T BASeErfe/34 om
(b) 75 sdH=r/75 cm
(c) 3 ez 4 FFeh=z/3
m 4 cm

(d) 3 ez 40 FH=/3
m 40 cm

.




JIT2TST CTET / STET 2023 [CTET]

Q. TIEH 6l GTHT ] qael | Ueh SAle qTHT 3T gl 394
275 mL 9THT 99T 3T It ared °471 7 250 mL 911

AT FaoT § T fohadT ATl AT 52

Q. Sonam's water bottle holds one litre of water. She
drank 275 mL of water and her friend Naina drank
250 mL. how muc€ water.is left in the bottle?

750 \> (a) 425

mL
(b) 475
mL

(c) 525
mL
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7 asee,

Q. TF T A H &1 B =l T T
AT 92 8.7 cm g1 TTa A= T2

1.5 cm T T GCH 9T 2 km = T
g, al AT EITAT 6 &S ol 1T (HieT |
) foraeT g7

Q. The distance from place A to
place Bis 8.7 cmon amap. If 1.5

B Rt s e
E'blf §%§§é I%Tﬁtres ) between these

met es

(c) 11600 H1=¥/

metrac
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Q. fa=t gfates 99T 3 =< @arL 9g8dt ¢l
3ATST I 2 He 55 e H @1 92T I

R T| 39 Toha™ AU G TET7?

Q. Bincy reads a newspaper daily for
approximately 3 hours. She took 2 hours
and 55 minutes to read the newspaper
today. How many seconds did she read
this newspaper?:/ )»

/\—

o=

10200
(b)
10500
(c)
10800
(d)
10850



f9T2TST CTET / STET 2023 [CTET]

Q. 99T T < @7 9 |
30 mL I T TART AT gl 98

ESEIGE IESCIGIREA I R L
e 4(1/2) WL THEAT 7, T e

fohaeT O TR T 2 (1 HgleT
=30 =)
Q. Bishal uses 30 mL of

cooking oil at a time. He cooks

three times a day. How much
@I)ﬂé)\}v@ége If he cooks for

mk

maonths? (Take 1 month

mL

/2
() gy 0

y

(N 101 1850
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Q. MEterfed # & -4t

(/j’_js AATSI] 21 A& 0 H H €I
\ \"’) ERIRIR I
Q. In which of the following
have the lengths been
(a) 5B0ANgaAD inereBEIPrB U,
55000 mm, 50 m
(b) 50 m, 5500 cm 50 mm, 55000
mm, 500dm 30 cm
(c) 55000 mm, 500dm 30 cm, 5500

cm50 mm, 50 m
(d) 50 m, 500dm30 cm, 55000 mm,
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Q. AT 2 12T Y &l JIF dIadAl | 9

TRTY STAAT ATAT &, (o Taeil aiad |

1/2 38, TAEL d1ao § aTehl 4 T 3/4
A T Fae § 9 U A 1/5

HTAT g1 A1 Srael 9 o 918 977 o

T foRa T JTAT § g =T 2

Shan wishes to pour 2 litres of milk
into three bottles so that the first
bottle holds 1/2 of the milk, the
second bottle holds 3/4 of the rest of

[, 200 R 280

Zﬁh‘%’@ MMk will be left with Shan







